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Q.1]  Attempt the following questions (Total - 20 Marks)

- What are the advantages and disadvantages of polar and ¢
- Explain the design considerations for a satellite. s ;i;—
- Discuss the role of Mission and Network Manager@gen’t Gl n,trg"m,‘ S
- How are TV broadcast signals relayed to earth statlon a‘tqlllte« :

ONm>»

Q.2] Attempt the following questions (Total - 20 M‘a
: A. Explain three axis method of stablllzatlon of;

(10 Marks)
B. For a satellite downlink, the saturatnon}flRP

(10 Marks)
amount to 1.5 dB, earth-station [G/:I\'] IS/S}Z
Assuming an output BO of 6dB apﬁiled whs ""'is‘f
Q3] =207
| whi g‘ itellite re ces (10 Marks)
. Derive an expression for’ he’dally verag duratlon of (10 Marks)
Q.4 ving uestton (T ta
A. Explam in detall the IRIDIUM ne W (10 Marks)
(05 Marks)
(05 Marks)
(10 Marks)

a \; ‘Hthhe expected lifetime of a satellite can (05 Marks)

g:l naLseparatuon which can exist between a geostationary (05 Marks)

e

it maifta mmg hngof sight communications, assuming the minimum
e arthstatuon 'antenna |5<5° State also the latitude of the earth station.

20“Marks)

e prowded by satellites. (05 Marks)
_ ‘hop,,an' multl hop sateillte connectlons (05 Marks)
us eart observatno (05 Marks)

(05 Marks)

tterqpt the followmg questlons (Total
‘ert a'sh i
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